Moduby 1 Paiteesndsus SOUTIONG |

Student: Instructor: Mary Robertson
Date: Course: Susigg#. College Algebra

Assignment: Test #1, Module 1 (1.1-1.8)

1. Determine whether the given equation is linear or nonlinear.
V) 4=0

The equation is (1)

(1) @ linear, X 1o 4 The [ 700144%

(3 nonlinear.

2. Solve the equation. LcD = (2 D ¥x+/12= #¥9X
(2= 47X

2 —x——x XY Ha— 3(x— ‘f>= lffz
/ 4( e YU —Bh412 = 4@x. [}/7 7‘]

Select the correct chonce below and, if necessary, fill in the answer box to complete your choice.

. L2
@ A x= z . (Type an integer or a simplified fraction.)

(1 B. "The solution is all real numbers.
(2 €. There is no solution.

3. Sove, LED= (Z¢/)(Z +3) (Z+3)1) + (Z+1Y3) =

1 3 2 Et3+ IFZE+3 = 2
(EHYZ-@[Z” +Z+3=22+4z+3:-1 it

HEZ= 4 EE =) — QI do
Select the correct choice below and, nf necessary, ﬁll in the answer box to complete your chotce

QA 2=
(Type an integer or a fraction. Use a comma to separate answers as needed.)
(O B. The solution is all real numbers

@ C. There is no solution. fe/hes = = =/ A the denosinalet = O,

4. The perimeter of a rectangular garden is 108 melers. The
length is 6 meters longer than twice the width. Find the
dimensions of the garden.

2/ 2 +6) + L= 1OF
Yo) + 12 + 2= (08

What is the width?
[lp m L= 38

What is the length?

38 m




5. Afreight train leaves the train station 1 hour before a passenger train. The two trains are traveling in the same direction on
parallel tracks. If the rate of the passenger train is 5 mph faster than the freight train, how fast is each train traveling if the
passenger train passes the freight train in 12 hours? ™ s .b -

I;iow fast is the freigt;a;;;r;"t}éveling? F'_ fz - r /3 I /3,, '

GO wpn D-baeis [ re5 | t2 | 12r+ 60
(Type an integer or a decimal.)

- O

How fast is the passenger train traveling? [ 9r= (2r 1+ 6 -

5 h r= 60 ( Flrauw)

mp .

(Type an integer or a decimal.) ¥é S ( mﬂ/)

6. A grain barge travels on a river from point A to point B loading and unloading grain. The barge travels at a rate of 3 mph
relative to the water. The river flows downstream at a rate of 1 mph. If the trip upstream takes 2 hours longer than the trip

downstream, how far is it from point A to point B? . 1 Vs » t g d
The distance from point A to point B is ? miles. - "'ﬁ‘j Cream I T+ 2L+ Ls
e down stream|* | £ i
7. Find the desired sum. 'Write the answer in the form a+ b i, ‘1‘2{" = 2£’7" ‘7‘ 2 . 4 3M
. . 2t = ¥
6-2i)+(9+3i
: I : _ X =

6-2i)+(9+3i)= [B 44
(Simplify your answer. Type your answer in the form a + bi.) |

8. Perform the desired operations. ~28 + 32 L: - 2 .l.: + ¢ ‘_;2‘ ' |

AR o m AR A = 2
(-4-33)7-8i)= ~ 9L +!I ~52 + 1l

(Simplify your answer. Type your answer i the

L
.

9. Write the given quotient in the form a+b i. ' . ' ' |
(s-51 y7-42) _ H—12-352+200° 2/ =% -20 _ [~H7% |
([ 7+4i 7-4s) B HY— 16L%

3-5i L _ 47
7+4i £9.. O
(Simplify your answer. Use integers or fractions for any numbers in the expression.)

- u——
10. Solve using the square root property, ¥ Xz =38
X =
2

b5x” =35 XY= & /-7_'
. -+ T
The solution is x= = §/ 4 -
(Simplify your answer. Type an exact answer, using radicals as needed. Express complex numbers in terms of i, Use a :
comma to separate answers as needed.) .




11.

(;k’:_é,;z+j_) = 0+8+_1
Solve the quadratic equation by completing the square. ( 2 =~ B)L: f 7 x= 3 _'2" m

X2 —6x-8=0 X=3 = 217
x= 3% /7 |

(Type an exact answer, using radicals as needed. Express complex numbers in terms of i. Use a comma to separate
answers as needed.) ’

12.

Solve the equation using the quadratic formula. xr = -2 i' ;[07 - ‘1‘(}{—4) _ =2 l‘ J 20
- -
x*+2x-4=0 24

==l 2/5 x= —g - = TR
(Type an exact answer, using radicals as needed. Express complex numbers in terms of i. Use a comma to separate
answers as needed.)

13.

Benjamin threw a rock straight up from a cliff that was 160 ft above the water. If the height of the rock h, in feet, after t
seconds is given by the equation h= - 16t% + 108t + 160, how long will it take for the rock to hit the water?

” 2 . .
The rock will hit the water in 8' seconds. (/b t+108C+10 =0 il ‘IL'
c _F e CRTT i A

14.

Find all solutions. 2(1’2-?- /b)-‘: o /tzz "lé\ 457":72!"‘ 40 =O
Prieo (E22] Bwlozo [ZZ 4[] T €= 212 daE waye)

. . ——C )}

The solution setis { &7 &, \. =8
(Simplify your answer. e an exact answer, using radicals as needed. Express complex numbers in terms of ;. Use a

comma to separate answers as needed. Type each solution only once.)

15.

Which of the following equations is not a disguised quadratic equation?

Choose the incorrect equation below.

-/ 2 B
QA 32 g lopeg —S M=% ) In-5n-2=0
z _
QB o 1152 41220 Ch-’-‘xz) 2n -—Iln.-e(l-—o s asd . )
@C 523 g0 Clannal le frevwmctlend so oy 4—0&&?""”“‘5 L

OD. 283 _g13,8.0 (= )&3) hL—- By P & %/:.AL-A/

16.

2. -
Solve the equation after making an appropriate substitution,. ) — 20 n + 125 = O
(n-25Yn—5)Y=D

x*-307 +12520 (n=x")

Determine the appropriate substitution using the new variable u: u= X z 3

z
Write the new quadratic equation using the variable u: LL = 3O + 125 = O
(Type an equation. Type your answer in standard form.)

Solve the new quadratic equation for the variable u, u= 35 5
(Simplify your answer. Type an integer or a simplified fraction.:Gse a comma lo separate answers as needed.)

The solution set to the original equation is { 15 /g .
(Simplify your answer. Type an exact answer, using radicals as needed, Use a comma to separate answers as needed.)




2~ il s thas
(Vex+3) =(3)" . check:

17. Solve the equation. bX Z /—3 ::é? K '/;q}?' : 333
M. &7 2 °7 e

The solution set is :
(Simplify your answer. Use a comma to separate answers as needed.)

18. Solve the radical equation. (yq.t/x)L: ( X —{-?)L O=2z L-f 22X + 72
= = anguthd
{T=Ax =x+9 Qe di = 2% 182 +8/ O=(X+i18YX+¥

— O=-F ot AL et =2
The solution setis { — ; L=~ :
=z ) i X1 _ / 7]
19. Solve the radical equation.(ﬁ‘"]y*/ ) = (3-{- ;/5- +1¢ ) 7j \"/ = A5+ 4:/‘7 vl t+ g-
J7y+1 - 4fy+16 =3 77‘*/:4*6/‘?;7;‘*‘{‘"/# ég“?‘/eéu +/f .

e

J — — e
The solution set is { ? } (Use a comma to separate answers as needed.{ﬂ 9 3 e ) !

dp e -

20. Solve the linear inequality. Graph the solution set on a number line, and express fhe solution using interval notation.

-4x+8s —3x+3 > 5 ﬂ::"?ﬂ —"‘DO
— S _5 x"" . S ; v %(g _‘?)_ ;
Choose the corredt graph below, 3/5@’
O A ) B.
$c O D.
WHTW W

The solution in interval notation is !5 o) .

21. Solve the three-part linear inequality. Graph the solution set on a number line and express the solution using interval
notation. a:z:_ 3K+4‘4Zg

2 1153x;4<14] 18 £ 3x « 24
) bl X8 A » :

Chaose the correct graph below,

1 A 26/3 3213 @ B. ‘ ' 6 8
A f—t—t—t—t————-O==i=g| > <t ————— GO
2 0 1 2 0 9
O cC. 6 8 D, 26/3 32/3
S e e e L e AR R § = T B <
2 0 9 2 0 11

The solution in interval notation is Eb / ) } . _

(Simplify your answer. Use integers or fractions for any numbers in the expression.)




{S’)(—z-l!: T
¥xX— )= 19 eor gx~[= =9

22, Solve the equation for x.
=20 gx= —(8
sulnk kil [x= %] e ”7’2 S
Select the correct choice below amg,-rf-ﬁ , fill in the ans ete your chonce
@ A. The solution set is { é. ) 7ﬁ L,
(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to
separate answers as needed.)
(0} B. The solution set is .
23. Solve. Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.
[11x-35]= -

: é O A. The solution set is { .
Wb& % w ' (Simplify your answer. Type an exact

_ & answer, using radicals as needed. Use
mjaﬁw a comma to separate answers as

needed.)
@ B. The solution set is @.

2 - -
24, Solve the inequality. Express the solution using interval notation. b -4x £ and e-HXxZ l
16-4x]< 1 (or) - % ¢- ux |
Select the correct chonce be!ow and f Ilin any answer boxes in your cho«ce - £ 4 X £ _5’
z 1 > > 5’*
@ A The solution is [/f Y — X = ";: ;
(Simplify your answer. Use integers or fractions for any numbers in the expression. Type your
answer in interval notation.) 5 .Z
(O B. The solution set is & = £ x £
25. Solve the inequality. X+ 225 on Xt+2<-5
X >3 r- < —o2, -7 )
|x+2|>5 ' f/7 ( )U(3 o° :

Select the correct chonce below and |f nece i ll in the answer box to complete your chonce

O A. The solution is
{3 B. The solution set is @.

. (Type your answer in interval notation.)



